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Q.1 
What is compiler? Explain the language – processing system in detail.

Q.2
 Draw and explain the structure of compiler.

Q.3
Explain the science of building a compiler.

Q.4
What are the applications of compiler technology? Explain in details.

Q.5
Write a note on following programming language basics

i. Static Scope and Block Structure

ii. Dynamic Scope

iii. Parameter Passing Mechanisms

iv. Aliasing

Q.6
Explain the interaction between the lexical analyzer and parser.

Q.7
Find tokens, pattern, and lexemes for the following c-program



int main()



{

   


 int num;




 printf("Enter a integer: ");  

    


 scanf("%d",&num);  /* Storing a integer entered 





 by user in variable num */

    


 printf("You entered: %d",num);

                  return 0;

            }
Q.8
Explain input buffering technique used in lexical analyzer.

Q.9
Explain regular expressions and regular definitions with example.

Q.10
Describe the languages denoted by the following regular expression

i. (0|1)*00(0|1)*

ii. (1|01)*(0|є)

iii. a*ba*(ba*ba*)*

iv. ((a|b)(a|b))*

v. a(a|b)*a

Q.11
Write regular definitations for the following language.

           a) All Strings of lowercase letters that contain the five vowels in order.

           b) All strings of digits with at most one repeated digit.

           c) All strings of a’s and b’s with an even number of a’s and odd number of b’s.

           d) The set of all strings over   = {0, 1}, which has at most two  0’s

           e) The set of all strings over   = {a, b}, which begins and ends with bb 

           f)  The set of all strings over   = {a, b}, which has exactly two a’s 

           g) The set of all strings over   = {a, b}, which has atleast two a’s 

Q.12
Explain transition diagram. Draw a transition diagram for relational operators and unsigned number.

Q.13
Explain the lexical analyzer generator in details.

Q.14
Convert the following regular expressions to NFA using McNaughton –Yamada –Thompson algorithm.

1. ((є|a)b*)*

2. (a|b)*aba(a|b)*

3. (a*|b*)*

4. (1|01)*(0|є)

5. ((a|b)(a|b))*

Q.15
Convert the following NFA to DFA using subset construction algorithm.

i)
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ii)
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Q.16
Draw and explain the lexical analyzer generator also explain the pattern matching based on NFA’s.

Q.17
Construct the minimum –state DFA for the following regular expression.
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iv.
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